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2 23,060,762 22,572,685 488,077
= 600,000 600,000 0
z 3,602,000 3,602,000 0
& 5,868, 150 5,768,150 100,000
= 1,000,000 0 1,000,000
i 11,990,612 12,602,535 £611,923
2 Jlgh 2E & 212 17,677,061 16,508,061 1,169,000
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301 LetE2NS 80,000 95,000 15,000
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A 1,000,000 0 1,000,000
= 438,000 438,000 0
01 Al&ZHI 1,437,370 437,370 1,000,000
EES (2 24 S22 =dAE
1,000,000,000& 14| 1,000,000 0 1,000,000
= 1,000,000 0 1,000,000
et ad 13,305,500 13,105,500 200,000
z 3,351,000 3,351,000 0
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< 100,000 0 100,000
= 100,000 0 100,000
01 Al&HI 200,000 0 200,000
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200,000,000 200,000 0 200,000
=S 100,000 0 100,000
= 100,000 0 100,000
dEe S =4 3,018,675 3,605,760 587,085
= 313,750 313,750 0
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z 309,740 309,740 0
01 Al2teldl 124,805 124,805 0
Os=2= NH (0= 0 8,000 8,000
< 0 8,000 8,000
OLg3d 2g=3 7Y
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< 17,000 9,000 8,000
SHEANEE X & B 80,000 580,000 500,000
401 AlZHIL 2 0HY] 80,000 580,000 500,000
01 Al&€HI 80,000 580,000 500,000
OLIOIMEE S 2 HIYANE =d 2X
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2 Ald 22| 517,915 605,000 87,085
EYs3H 2T g Al 517,915 605,000 A87,085
401 AIEHIL 20| 512,915 600,000 87,085
01 Al&HI 512,220 596,220 A84,000
O2g95H aH AMEMHEAIE (AEEEH)
512,220,000& x14] 512,220 596,220 84,000
03 AIZ=CHYI 695 3,780 A3,085
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